CBSE

Question Paper Name : Set A P1 Hindi and Sanskrit Comb57
Subject Name : P1 Hindi and Sanskrit

Creation Date : 2022-01-21 17:44:11

Duration : 150

Total Marks : 150

Display Marks: Yes

P1 Hindi and Sanskrit

Group Number : 1

Group Id : 9533572228
Group Maximum Duration : 0

Group Minimum Duration : 150

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 150

Is this Group for Examiner? : No

Child Development and Pedagogy

Section Id : 9533576503
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30

Number of Questions to be attempted : 30

Section Marks : 30

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 95335711339
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 953357188957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct about principles of child development?

Options :

1. Development occurs from central part of the body toward peripheries.

2. Development is not influenced by heredity and environment.

3. Development in one domain doesn't have any influence on development in other domains.

4. Development is purely quantitative and can be measured precisely.

Question Number : 1 Question Id : 953357188957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 953357188958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Language development among children gets influenced by -

Options :

1. genetics only.

2. environment only.

3. genetics as well as environment.

4. neither genetics nor environment.

Question Number : 2 Question Id : 953357188958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 953357188959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A progressive classroom -

Options :

1. gives primacy to silent listening only.

2. respects individual differences among learners.

3. is marks - oriented.

4. is based on behaviouristic principles of learning.

Question Number : 3 Question Id : 953357188959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 953357188960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In Lawrence kohlberg's theory of moral development "Obeying rules to avoid punishment" represents -

Options :

1. Pre- conventional stage

2. Formal operational stage

3. Conventional stage

4. Post conventional stage

Question Number : 4 Question Id : 953357188960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 953357188961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In order to facilitate the learning process, a teacher should use strategies which emphasise on :

Options :

1. the progression of concept from complex to simple.

2. the primacy of convergent thinking.

3. exploring the relationships between different concepts.

4. creating competitive culture among students.

Question Number : 5 Question Id : 953357188961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 953357188962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Lev Vygotsky's theory mainly focuses on explaining :

Options :

1. the impact of heredity on development.

2. the role of cultural tools in cognitive development.

3. the bio ecological model of socialisation.

4. the impact of attribution pattern on motivation.

Question Number : 6 Question Id : 953357188962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 953357188963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

During a discussion on "Cricket", a teacher is posing questions mostly to boys and not to girls. This act of teacher is an example of :
Options :

1. Gender Empowerment

2. Gender bias

3. Gender relevance

4. Gender threat

Question Number : 7 Question Id : 953357188963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 953357188964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

In a child-centered classroom, a teacher gives importance to -
Options :

1. frequent objective type examinations.

2. active knowledge construction process.

3. completion of syllabus in whatever way possible.

4. strict disciplinary practices based on punishment.

Question Number : 8 Question Id : 953357188964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 953357188965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is primary agent of socialisation for children?

Options :

1. Books and magazines

2. Immediate family

3. Parent's work place

4. Staff at hospital

Question Number : 9 Question Id : 953357188965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Treferfiga o & w1 S==1 % TETSTHT T A He £
Options :

gp——

, Teewy ufram)

5 TTAT-ToaT =

= [
4, TEAATSA o FHHAR]|

Question Number : 10 Question Id : 953357188966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Concrete operational stage in Jean Piaget's theory of cognitive development corresponds to the age group -

Options :

1. Birth 0 - 2 years



2.2 -7 years
3.7-11 years
4. Above 11 years

Question Number : 10 Question Id : 953357188966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 953357188967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

You are a teacher who believes that "children learn at varied paces and in different ways". In your class, you will plan assessment which :
Options :

1. is same for all students.

2. includes objective type questions only.

3. is not related to how children learn.

4. is based on different methods of assessment.

Question Number : 11 Question Id : 953357188967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 953357188968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

As per Lev Vygotsky's theory which of the following is an effective strategy of scaffolding the teaching - learning process?

Options :

1. Providing rigid step-by step instructions to solve problems.

2. Punishing the children for incorrect answers.

3. Giving hints and cues if children are stuck at some point while solving the problem.

4. Complete non- interference of teacher in the process.



Question Number : 12 Question Id : 953357188968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 953357188969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct about intelligence?

Options :

1. Intelligence can be measured only through Intelligence quotient (IQ) tests.

2. Genetics play no role in creating individual differences in intelligence.

3. High intelligence is one domain ensures high intelligence in other domains also.

4. Intelligence is more than the ability to perform well in school.

Question Number : 13 Question Id : 953357188969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 953357188970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Seeing a horse, a three year old child exclaimed. "Wow! Such a big dog". As per Jean Piaget's theory of cognitive development , this
response by child is an example of :

Options :

1. assimilation.

2. make-believe.

3. object - permanence.
4. deferred imitation.



Question Number : 14 Question Id : 953357188970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 953357188971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Lev Vygotsky's ideas Language and thought suggest that -

Options :

1. language guides cognitive development.

2. cognitive development guides language.

3. there is no relation between language and cognition.

4. cognition is independent of language.

Question Number : 15 Question Id : 953357188971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 953357188972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Creativity among children can be facilitated :

Options :

1. by encouraging exploration.

2. through teacher - centric pedagogy.

3. by drill and repetition.

4. through imitation only.

Question Number : 16 Question Id : 953357188972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 953357188973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Dyscalculia is directly associated with :

Options :

1. locomotor disability.

2. fluency in understanding other's motives.

3. musical ability.

4. difficulty in learning of mathematical concepts.

Question Number : 17 Question Id : 953357188973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 953357188974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Right to Education Act (2009) has a provision of Reservation of seats in Privates schools for admission of students from Economically
weaker section (EWS). In order to successfully these students a, a teacher should use pedagogy based on -

Options :

1. discrimination.
2. segregation.

3. equity.

4. equality.

Question Number : 18 Question Id : 953357188974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 953357188975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In an inclusive classroom, information should be presented in :

Options :

1. textual form only.

2. visual form only.

3. verbal form only.

4. multiple forms.

Question Number : 19 Question Id : 953357188975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 953357188976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to contemporary polices of Education, which of the following is the most suggested model of schooling for children with
disabilities?

Options :

1. Only vocational education

2. Inclusive education

3. Separate education

4. Integrated Education

Question Number : 20 Question Id : 953357188976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 953357188977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is not correct about the learning process?

Options :

1. Learning is a continuous process.

2. Error and mistakes are irrelevant in the process of learning.

3. Learning is based on personal and environmental factors.

4. Learning takes place in a spiral manner and not in linear manner.

Question Number : 21 Question Id : 953357188977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 953357188978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Repeatedly telling the child that ' he/she is not capable of learning ' is likely to -

Options :

1. demotivate the child to learn.

2. fasten the pace of learning for child.

3. motivate the child to learn.

4. have no effect on child's learning.

Question Number : 22 Question Id : 953357188978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 953357188979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Problem - solving skills can be enhanced by :

Options :

1. fixating on conventional use of materials.

2. representing problems in standardised format.

3. considering alternative ways of solution.

4. rote memorisation.

Question Number : 23 Question Id : 953357188979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 953357188980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To teach a concept to students in primary grades, which of the following sequence of representation of content is most appropriate?
Options :

1. symbols, pictures, concrete materials.

2. pictures, symbols, concrete materials.

3. symbols, concrete materials, pictures.

4. concrete materials, pictures, symbols.

Question Number : 24 Question Id : 953357188980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 953357188981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Classroom environment has a significant on children's learning. To inculcate a culture of mastery oriented learning (learning that focuses
on understanding) , learning, classroom environment should be :

Options :

1. Performance oriented.

2. competitive and individualistic.
3. teacher dominated.

4. cooperative and collaborative.

Question Number : 25 Question Id : 953357188981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 953357188982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a correct statement in content of learning?

Options :

1. Examination is the ultimate goal of learning.

2. Learning is a passive process and it doesn't require engagement of learners.

3. Emotions have no influence on the process of learning.

4. Learning is a complex process which requires active engagement of learners.

Question Number : 26 Question Id : 953357188982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 953357188983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Socio-Constructivist view of learning emphasise on the importance of in process of learning.

Options :

1. interactions

2. rewards and Punishments

3. heredity only

4. inflexible pedagogical approaches

Question Number : 27 Question Id : 953357188983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 953357188984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a correctly matched pair of influencer and source of motivation?

Options :

1. Self - fulfilment — Extrinsic motivation

2. Curiosity — intrinsic motivation

3. Cash prize — intrinsic motivation

4. Interest — extrinsic motivation

Question Number : 28 Question Id : 953357188984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 953357188985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To facilitate conceptual understanding among students , a teacher should :

Options :

1. encourage students to learn through rote memorisation.

2. not include examples and non-examples in the discussion of concepts.

3. provide opportunities to make connections between what has been presented and what they know already.

4. rely only on lecture method for teaching.

Question Number : 29 Question Id : 953357188985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 953357188986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following factors influence learning ?

(i) Motivation
(ii) Social content
(iii) Emotions

(iv) Pedagogical approaches
Options :
L (©),(iD), (iv)
2. (1),(iii), (iv)
3. (ii),(iii)
4. (i),(ii), (iii), (iv)
Question Number : 30 Question Id : 953357188986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 31 Question Id : 953357188987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The rate list of groceries in a shop are depicted as follows:

Rice (1KG) %70
Black gram (1KG) %90
Wheat Flour (1KG) %45
Coriander powder (250g) 40
Chilli Powder (250g) %60
Salt (1 Pkt) X25
Biscuit (1 Pkt) 20

Ashish needs to buy 5kg of rice, 5kg of wheat flour, 250g of coriander powder, 250g of chilli powder, 2kg of black gram
and some packets of biscuit with remaining money. If he is having 1000, how many biscuit packets can be buy?

Options :
1. 8

2, &

4. 10

Question Number : 31 Question Id : 953357188987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1. 8

Question Number : 32 Question Id : 953357188988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
¢ | am atwo digit number.
e The digit at ten's place is multiple of 2 and digit at units place is multiple of 3.
* The sum of the two digit is a prime number which is a factor of 52.
The number is
Options :
1. 69

7. 46
3. 49

4. 83

Question Number : 32 Question Id : 953357188988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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1,69

2. 4B
3, 49

4. 83

Question Number : 33 Question Id : 953357188989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The rates of hiring a rental car are as follows:

% 800 per 8hours up to 80 km

% 100 per extra hour and %10 per extra km.

Sunil travels from city A to B which is 250 km. He starts at 7:00 am and reaches at 4:00 pm on the same day
How much money he has to pay?

Options :
1 %2,500

, 2,600
5 2,700

4 $2,400

Question Number : 33 Question Id : 953357188989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Teh &R H #A15 W o & T ae & g e §

80 km T & ©¢ & foiv 2800

gict #fafaa a=¢ & v 2100 3R 9fd sfafed km F f@T 210
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ufer &= &2

Options :

1. %2500

2. 2600

Question Number : 34 Question Id : 953357188990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is at the third place when numbers are arranged in descending order?
9.09, 9.009, 9.990, 9.909, 9.099

Options :
1. 9.990

5 9.099
3 9.909
4 9.090

Question Number : 34 Question Id : 953357188990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FlG! & # ohaieyd we W Hroi@a # § S99 e del T W e

5.09, 9.008, 5.950, 9.909, 9.099
Options :



1. 9.990
2. 9.099
3. 9.909

4. 9.090

Question Number : 35 Question Id : 953357188991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a four digit number, the digit at hundreds place is 0, the digit at tens place is twice that of units place whereas, the
digit at thousands place is thrice that of units place. If the digit at units place is 2, what is the number?

Options :
1. 4062

» 6024
3 6042

4. 4602

Question Number : 35 Question Id : 953357188991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Tk TN 3R bl e # g T W0, EE15 & TR W 3 SHI5 & TUM W I3 O g & SlElh guNd ¥ W 3% SIS &
TUA W 3 W AT &) TEm &= ge

Options :

1. 4082

) 6024
3. 6042

4 4602

Question Number : 36 Question Id : 953357188992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The sum of two digit number and the number formed by reversing its digits is equal to 88.
How many of such numbers are there in which tens digit is greater than units digit?
Options :
1.5

Question Number : 36 Question Id : 953357188992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
Teh G 3iehl dlell T AN 54 3ol T Uelee] UX a@=il T&AT o1 AT 88 & Tl fha=r G&a §, [=9 2gi5 & 3 5% & 3id
st 52

Options :
1.2

Question Number : 37 Question Id : 953357188993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A rectangle of sides 8cm and 10cm is divided into four equal rectangles.
What is the perimeter of each small rectangle?

Options :

1. 36cm

2. 9¢cm
3. 18 cm
4. 20cm

Question Number : 37 Question Id : 953357188993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

SHAL N 10{AL HAHT arel Th HAT P 9R TAM Hhdl A [asioid far 7121 1 9deh BIC 340 &1 9T &1 G
Options :
1. 36T,

o, 9%AL
3. 183

4, 20304,

Question Number : 38 Question Id : 953357188994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is true?
Options :
1A prime number when added to another prime number always gives a prime number

5 Aprime number when multiplied by another prime number always gives a prime number

3. Prime numbers do not have factors



4 There are infinitely many prime numbers

Question Number : 38 Question Id : 953357188994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fafof@a & ¥ Fla-9 72 9 &

Options :
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Question Number : 39 Question Id : 953357188995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The number which divides 88 and 160 leaving remainders 3 and 7 respectively is:
Options :
1. 13

7. 17
3. 21

4. 28

Question Number : 39 Question Id : 953357188995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

g g fogd 28 3 160 = Tuleg == W 99%e &9 3 3R 7 3, B i
Options :
1. 13

2. 17
3,021

4. 28

Question Number : 40 Question Id : 953357188996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Malini has only 22 and %5 coins with her. If the total number of coins she has is 36 and the amount of money with her
is 105, then the number of 2 and %5 coins with her are:

Options :
1 26 and 10 respectively

) 25 and 11 respectively



3 21 and 15 respectively

4 24 and 12 respectively

Question Number : 40 Question Id : 953357188996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AferAT & U Faer 22 R 5 F e §1 Al 39F g gl 6 For TEar 36 3K TMT 2105 § o 12 AR 25 & gt $r g
B

Options :

1. @ 26 3R 10

o, BAU: 25 3R 11
3 &AL 21 AW 15

4, HHL 24 3 12

Question Number : 41 Question Id : 953357188997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Evaluate 14.5%x3+18+3-3x12.5?
Options :
1. 6

7 12
3. 56

4 615

Question Number : 41 Question Id : 953357188997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A1 AT HifAT:
14,5x3+18+3-3x12.5
Options :

1.8

2. 12
3, 56

4, 615

Question Number : 42 Question Id : 953357188998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

One-sixth of the trees in a garden are jamun trees, half of the trees are Eucalyptus trees and the remaining are peepal
trees.

If the number of jamun trees is 6, how many peepal tree are there in the garden?



Options :
1. 36

7. 12

Question Number : 42 Question Id : 953357188998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

U G & gall A S & gail $f TEaT U Sedl 1T §, I e Jehfoadd & 3R ardht 9iaer & gaf §1 afg S & gal &
& 6 &, o anr #F due ¥ e aa 82

Options :

1. 36

2. 12

3, 18

Question Number : 43 Question Id : 953357188999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1St zﬂd

A train leaves Vishakhapatnam, on the 1°* September, 2019 at 04:48 hours and reaches its destination on

September at 17:37 hours.

The total travel time of the train is
Options :

1. 30 hours 37 minutes

> 36 hours 37 minutes
3. 36 hours 49 minutes

4. 38 hours 12 minutes

Question Number : 43 Question Id : 953357188999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ueh Yerems! faum@desA & 1 fiaFat 2019 T Gag 04:48 I GEAH A & AR 30 aaey W 2 awar &1 17:37 &= ggad &
$H YedsT T AT T FHe HAT b

Options :
1. 30 9t 37 A=e

2. 36 €& 37 AT
3. 36 B¢ 49 A=

4, 38 €€ 12 &=e



Question Number : 44 Question Id : 953357189000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which of the following have the lengths been arranged in increasing order?
Options :
1 5500 cm 50 mm, 500 dm 30cm, 55000 mm, 50 m

2 50 m, 5500 cm 50 mm, 55000 mm, 500 dm 30 cm
3 55000 mm, 500 dm 30 cm, 5500 cm 50 mm, 50 m

4. 50 m, 500 dm 30 cm, 55000 mm, 5500cm 50 mm

Question Number : 44 Question Id : 953357189000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fAefaf@d & § S5 ofarsdl & 9ed oA 7 caafeyd &ar a3 &2
Options :
1. 55008.#. 50 mm, 500dm 30¥AL, 55000 mm, 50 m

5 90m, 5500 A 50 mm, 55000 mm, 500 dm 30 .4
3. 55000 mm, 500 dm 30 #.#T., 5500 &.#"., 50 mm, 50 m

4 50m, 500 dm 30%AL, 55000 mm, 5500 WAL, 50 mm

Question Number : 45 Question Id : 953357189001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A 270cm long wire is formed into a rectangle. If the width of this rectangle is 50cm, what is its length?
Options :
1. 60cm

2. 75¢cm
3. 85cm
4. 90 cm

Question Number : 45 Question Id : 953357189001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T 270 QAL @&l dR & U HEd & &9 8 §1 3fe 50 3aa & disg so @A §, O SHS eds #7452
Options :
|, 60TAT
5. 75 WAL

3. 85%LAL



4, SOTAT

Question Number : 46 Question Id : 953357189002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

When asked to write 35, some students of grade Il wrote as 305. As a teacher, how will you address this problem
Options :
1. By telling them that it is wrong and asking them to find correct answer

5 By writing the correct answer on the black board
3 By asking them to write correct answer ten times in their notebooks

4. By explaining the principle of exchange through concrete material

Question Number : 46 Question Id : 953357189002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e 11 & ot 51 30 foEs & 57 o7 707 af $© & 300 Tan 3aE F w7 § 39 56§ gEiE w7
Options :
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Question Number : 47 Question Id : 953357189003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which aspect/aspects of mapping are present in the primary mathematics curriculum?

(A) Map interpretation

(B) Unscaled drawing

(C) Using symbols

(D) Drawing as per scale

Options :

L ACD

, ABC
; BCD
4 AB,D

Question Number : 47 Question Id : 953357189003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



fUTd & gufde gredeH # gidfEeT @REe) & i § gge fdege &7
(8) AT FT 7R

(B) TaaT YA arer Her@

(C) Hehdl (cirenl) T G

(D) YHRET & TR erg ie

Options :
1. A,CD

2. AB.C
3 BCD

4. G DA

Question Number : 48 Question Id : 953357189004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following topics are not part of the primary school Mathematics curriculum as per NCF 20057
Options :
_ Integers

—_

> Tessellations
3. Estimation

.WmmmW

N

Question Number : 48 Question Id : 953357189004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TSR TS T4l 2005 F HgaR FEeiad & § S § ey aruffAe Hegredt # aivid aeawa #1 A 960 8
Options :
1,

p, Hs (@msferm

5 HEAE T

4_33%%

Question Number : 49 Question Id : 953357189005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Beads can be used to explain which of the following concepts?
Options :
1 Number sense, fractions, patterns

5 Fractions, place value, volume

3 Number sense, patterns, volume



4 Number sense, tessellations place value

Question Number : 49 Question Id : 953357189005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Hielehl ol G HAeAtoii@d H & fohel HIURONHT & TS & ToC fohan o1 Hehll &7

Options :

1. -ﬁm E!T‘?_T, mo_-rr, Qﬁ—\qq

o Toe, TEE AE, AEE
3, TEAT &y, 9iaEd, HEaE

4 TEn &, gias (zrsfeer), TurEE A

Question Number : 50 Question Id : 953357189006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statement is/are true? Boys are better than girls in problem solving

(B) Children coming from rural background find mathematics difficult-

(C) Teacher's beliefs impact learner's performance in mathematics

Options :

1. A

4 AandB

Question Number : 50 Question Id : 953357189006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

o # 4 &9 9@/ Fu 981 &7

(A) THEDT GATA #H of5eh, osiddl ¥ 8w 3199 §

(B) AT TSEHH F I aTer gl I AT HoA T

(c) 3e=mas & Rt &1 R aiftlg diee a6t & ugd=E g B

Options :

1. A

4 A3RE

Question Number : 51 Question Id : 953357189007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following is most appropriate strategy to teach data collection and interpretation to primary class
students.

Options :

1 Providing lot of practise questions

5 Asking students to conduct survey
3 Conducting quiz in classroom

4 Conducting group discussion in class

Question Number : 51 Question Id : 953357189007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

wrefAs &all & TaeaTEl &1 sl & GguT IR 3iea tem & fov Meafaf@a & ¥ &= & a9 3 &2
Options :
|, ¥ & folU & AR 99 3gered] T
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Question Number : 52 Question Id : 953357189008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A student tells that the shape of a samosa in triangle. He is at which stage of geometrical thinking as per Van Hiele's
level

Options :

1. Visualization

5 Analysis
3. Establishing Relationship

4. Axiomatics

Question Number : 52 Question Id : 953357189008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

v facamlt Fwar & g9 & eR B S §) a8 SfAd fQdes F 39 819 (van Hiele) ¥ HIOR RE TaU W &7
Options :
1. 0



Question Number : 53 Question Id : 953357189009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following may be considered a feature of a constructivist mathematics classroom?
Options :
1 Memorizations of mathematical definitions is accorded high value

5 The teacher focuses only on the right answers
3 Students’ errors are considered an important source of information

4 Interaction among students is discouraged

Question Number : 53 Question Id : 953357189009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TrRfEa § 9 50 Sadacas ((@-1a)) 0T FaTT ST TR0 AT o Tehdl 57
Options :
|, TOTERT ORETIST # FETy F F Ied A g
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Question Number : 54 Question Id : 953357189010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT true in the context of nature of mathematics?
Options :
| Mathematics involves study of patterns and relationships

5 Mathematics is limited to study of numbers

3. Mathematics involves abstraction and visualisation

4. Mathematics connects to the real world

Question Number : 54 Question Id : 953357189010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT ¥ TORT F W A Mg A sl arad B
Options :
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Question Number : 55 Question Id : 953357189011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following may NOT be associated with the development of special understanding among children?
Options :
1 Calculating the distance between different cities on the map of India.

5 Imaging what a piece of paper would look like if it is folded along given lines.
3 Giving directions to reach their house from the school.

4 Matching the top-view of a pencil with its side view.

Question Number : 55 Question Id : 953357189011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

F=ff@a & ¥ o fagfiet & Bfew (fGemum) 99s & aeRa &6 & v dead: 3ugea 70 &2
Options :
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Question Number : 56 Question Id : 953357189012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is NOT correct in the context of teaching area- measurement of plane figures?
Options :
1 Students should be given a chance to 'discover' the various formulae

5 Use of formula for area-measurement should be taught before estimation of areas
3 Grid paper can be a useful device for introducing and implementing the formal units of measurement

4 Tessellations with regular shapes can be useful for teaching area-measurement

Question Number : 56 Question Id : 953357189012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FAGA HSEAl F aFAGA H AU & e # el # § HlF @1 Fua w6 A &
Options :
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Question Number : 57 Question Id : 953357189013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Identify the open-ended question from among the following.
Options :

The volume of a cardboard box is 480m?>. If its length and breadth area 10m and 8m respectively, What would its
1. height be?

2.
The breadth of cardboard box is four-fifths of its length and the height is three-fourths of its breadth. If the volume of

the box is 48[}m3, find its length, breadth and height

3 The area of a rectangular field is given to be 480m<, What can its length and breadth be?

4 How many rectangular plots of area 480m? can be accommodated in a larger field of area 3360m?2?

Question Number : 57 Question Id : 953357189013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

SF=tleliad # ¥ #Hod Y arer ye &I UEH=L:
Options :
| U e & fSsd & IEGA 480m? §) MG sHH arg R st HHA: 10m IR 8m B, & gEH TS @ gl
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Question Number : 58 Question Id : 953357189014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is NOT correct in the context of hierarchy of Mathematical concepts?
Options :
1. Multiplication builds on the concept of addition

5 Division builds on the concept of subtraction

3 Integers build on the concept of natural numbers



4 Fractions build on the concept of decimals

Question Number : 58 Question Id : 953357189014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 59 Question Id : 953357189015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

|dentify a desirable practice for teaching fractions at primary level
Options :
1 Everyday conceptions of fraction should not be allowed to interfere with classroom teaching

5 Only halves and quarters should be introduced at primary level
3 The concept of fractions should be demonstrated in multiple situations

4 Numerator and denominator should be emphasised as separate numbers

Question Number : 59 Question Id : 953357189015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 60 Question Id : 953357189016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT desirable with regard to assessment in mathematics at primary level?
Options :
1 Emphasis should be on assessing conceptual understanding



5 Aunique test pattern should be consistently followed

3. Assessment should be sensitive to the context of students

4 Itis important to challenge all children according to their mathematical taste

Question Number : 60 Question Id : 953357189016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TUEF TR W AT & Hhed § 999 § FEaidd § § =T aisard J8 67
Options :
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Question Number : 61 Question Id : 953357189017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which one of the following parts of our country most of the people grow tapioca and coconut in their own courtyard and using these
they prepare their tasty food?

Options :

1. Kerala

2. Goa

3. Assam

4. Andhra Pradesh

Question Number : 61 Question Id : 953357189017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1. e
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Question Number : 62 Question Id : 953357189018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The name of a particular species of birds whose male bird makes many beautiful nests and the female bird selects one nest to lay her eggs
is

Options :

1. Indian Robin

2. Sunbird

3. Tailor bird

4. Weaver bird

Question Number : 62 Question Id : 953357189018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

-

2. ITRTET

;. T (FrEw)

Question Number : 63 Question Id : 953357189019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Your house is located at X and your father's shop is located at Y. Although your father's shop is just opposite but you cannot go straight
because of a deep canal in between, therefore, you first go 200m due south, then 150m long bridge which is due east and finally reach at
your father's shop which is 200m due north. With respect to Y, the minimum distance of your house and it's direction respectively are:

Options :

1. 150 m due west
2. 150 m due east

3. 350 m due west
4. 550 m south-west

Question Number : 63 Question Id : 953357189019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

L 150 m S Utgm =

, 150 ma%n":g:?ﬁ

3 350 m @R utge F

4 550 m 31 Stgurutae 5

Question Number : 64 Question Id : 953357189020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A doctor has suggested to a person to eat daily the green leafy vegetables, amla and jaggery (Gur) along with medicines. This person must
be patient who is suffering from

Options :
1. Anaemia
2. fever

3. malaria
4. typhoid

Question Number : 64 Question Id : 953357189020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 65 Question Id : 953357189021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Bronze is an alloy whose main constituents are

Options :

1. lead and tin

2. copper and tin

3. copper and zinc

4. Aluminium, copper and tin

Question Number : 65 Question Id : 953357189021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 66 Question Id : 953357189022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Consider the following statements about the world famous pashmina.

(A) A pashmina showl is as warm as six sweaters.
(B) The goats from which the soft pashmina wool is collected are found on very high mountains of 5000 m.
(C) A coat of warm hair grows on the goat's body which protects it from extreme cold.

(D) The fine hair after cutting from the goat’s body are woven on machines.

The correct statement(s) is/are
Options :

1. only B

2. only D

3.A,Cand D

4. A,Band C

Question Number : 66 Question Id : 953357189022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 67 Question Id : 953357189023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which year a thousand people died in the earthquake that struck in Bhuj (Gujarat)?

Options :

1.2000

2.2001

3.2002

4.2004

Question Number : 67 Question Id : 953357189023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

L. 2000

5 2001
3 2002

4 2004

Question Number : 68 Question Id : 953357189024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

With respect to the location of the capital of our country, the capital of the Himachal Pradesh (Shimla) and the capital of the Madhya
Pradesh (Bhopal) are located (respectively) in the

Options :

1. north and south

2. south-east and north-west

3. south-west and north-west
4. north-east and north-west

Question Number : 68 Question Id : 953357189024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 953357189025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A person living in Shimla (Himachal Pradesh) wants to first visit Bhopal (Madhya Pradesh) and then Gandhinagar (Gujarat). The direction
of his journey will be first towards



Options :

1. south east and then towards west
2. south west and then towards east
3. south and then towards west

4. south and then towards east

Question Number : 69 Question Id : 953357189025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 953357189026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The state/Union Territory of our country which has a coast on the Arabian Sea is

Options :

1. Andhra Pradesh

2. Karnataka

3. Puducherry

4. West Bengal

Question Number : 70 Question Id : 953357189026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 953357189027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A special kind of dance named 'Cheraw' is performed by the people of

Options :

1. Assam



2. Mizoram
3. Odisha
4. Jharkhand

Question Number : 71 Question Id : 953357189027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Options :

Question Number : 72 Question Id : 953357189028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

On the map of India, if you draw a straight line AB from Kolkata (capital of West Bengal which is point A) to Puducherry (which is point
B), then the direction of the point A with respect to the point B would be

Options :

1. due south
2. due west
3. south west
4. north-east

Question Number : 72 Question Id : 953357189028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 73 Question Id : 953357189029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Name the female athlete who started weight lifting at the age of 12 years, succeeded in lifting weight of 130 kg and won 29 medals in
international events

Options :

1. Sunita Williams
2. Wahida Prism
3. Bachhendri Pal



4. Karnam Malleshwari

Question Number : 73 Question Id : 953357189029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 953357189030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
A tourist boarded a train on 10" November 2021 from Ernakulam Town to Vadodara. The train departed from Ernakulam Town at 22:40

hours and reached Vadodara at 14:10 hours on 12" November 2021. If the distance between the railway stations of the two cities is 1896
km, the average speed of the trains during the journey of the tourist was

Options :

1. 96 km/h
2. 72 km/h
3. 48 km/h
4.36 km/h

Question Number : 74 Question Id : 953357189030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1. 96 km/hr

2. 72 km/hr
3 48 km/hr

4. 36 km/hr

Question Number : 75 Question Id : 953357189031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A group of spices whose every member is grown in Kerala is

Options :

1. Black pepper, turmeric, tejpatta

2. Tejpatta, black pepper, cardamom

3. Zeera (cumin seed), red-chilli, tejpatta



4. Zeera (cumin seed), black pepper, cardamom

Question Number : 75 Question Id : 953357189031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 953357189032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In relation to EVS, the child looks at his environment

Options :

1. into its segregated form.

2. in a holistic manner.

3. in its simple form.

4. into its theme form.

Question Number : 76 Question Id : 953357189032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 953357189033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Curriculum of EVS has been designed

Options :

1. on topics.

2. on syllabus

3. on themes

4. on topics and syllabus both

Question Number : 77 Question Id : 953357189033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



331 . % g i wUET T SR W ST T E-
Options :

1%@3‘@11?

, T W

; FHT

) o o e wTgEeE A W

Question Number : 78 Question Id : 953357189034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

NCF-2005 views EVS in classes I1I to V as a subject which integrates the concepts and issues of

Options :

1. science and social science

2. science, social science, language and mathematics

3. science, social science and environmental education

4. science, social science and languages

Question Number : 78 Question Id : 953357189034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 953357189035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following challenge/s may be faced by the EVS teacher in his/her EVS class?

A. Multicultural dimensions of his/her class
B. Feeling of each and every student
C. Everyone's community, culture and way of life

D. Class room discipline and it's management
Options :

1. A and D only

2. Band D only



3. Cand D only
4. A, B and C only

Question Number : 79 Question Id : 953357189035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 953357189036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The most appropriate objective of teaching EVS at primary stage is to

Options :

1. develop descriptions and definitions of the various concepts of EVS

2. provide lot of space to students to explore his/her environment

3. facilitate students to learn the concepts of EVS

4. encourage students to learn EVS through concrete informations shared by the teacher

Question Number : 80 Question Id : 953357189036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 953357189037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Family and friends in EVS curriculum is

Options :

1. theme



2. subtheme
3. topic
4. syllabus

Question Number : 81 Question Id : 953357189037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 953357189038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Meaningful EVS learning can only be made possible if

Options :

1. student's local experiences are related to school experiences.

2. school knowledge is used in the construction of knowledge

3. student's local experiences are not given due importance

4. trained EVS teacher's experiences are used.

Question Number : 82 Question Id : 953357189038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 953357189039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In the learning of EVS, activities conducted by the teachers should be followed by for authentic and meaningful learning.
Options :

1. discussion

2. listing of activities

3. learning the steps of activities

4. recapitulation of the activities



Question Number : 83 Question Id : 953357189039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 953357189040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Learning through group activities is performed in EVS classes because

Options :

1. it provides peer learning

2. it improves social interactions among students

3. it provides and improves peers and social learning among students

4. students only demand group learning

Question Number : 84 Question Id : 953357189040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 953357189041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following indicates skills process in learning of EVS?

Options :

1. classification

2. description

3. statement

4. recall

Question Number : 85 Question Id : 953357189041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 86 Question Id : 953357189042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The most appropriate objective of promoting parent's and community's participation in the learning of EVS by students is to
Options :

1. provide an opportunity to teachers to know the student's socio-cultural background.

2. follow the recommendation of national policies.

3. maintain discipline in the school.

4. know the students and guide them in the learning of students.

Question Number : 86 Question Id : 953357189042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 953357189043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The challenges and issues in EVS class at primary level can be very well addressed by

Options :

1. lecture and discussion

2. free debate

3. lecture and demonstration

4. debate followed by discussion

Question Number : 87 Question Id : 953357189043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 953357189044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Qualitative assessment of children's learning in EVS can be done by

A. Record of children's ideas, observation reports
B. Observation of process skills
C. Paper-Pencil tests

D. Achievement tests
Options :

1. A and B only

2. Cand D only

3. A,Band D only
4. A, B and C only

Question Number : 88 Question Id : 953357189044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

S|, J w=a1 % HiEgd TUITeHa: ST =1 g o 7T HeheT -
(A) T==I1 = TS=T o 2ATerg, ST Ttkﬁéﬂ

(B) TR SHITTET 31 ST

(C) FTT-UTe 352

(D) IUSATST =

Options :

| FETATOB

, FACTAD

N FITA, BFATD

. FaA A, BAUTC

Question Number : 89 Question Id : 953357189045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following is a formative assessment tool in EVS?

A. Portfolio
B. Anecdotal record

C. Rating scale



D. Observation and recording
Options :

I.LA,B&C

2.A,B&D

3.A,C,&D

4.A,B,C&D

Question Number : 89 Question Id : 953357189045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 953357189046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

“Drawing pictures of animals using fingers and thumb prints”
X Y

In the above line, identify (X) and (Y).

(A) Xis verb and Y is noun

(B) X is action verb and Y is content

(C) X is cognitive process and Y is content

(D) X is content and Y is verb.

Options :

1. B, Cand D.

2.A,Band C

3.B,Cand D

4. A,Cand D

Question Number : 90 Question Id : 953357189046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Sub questions

Question Number : 91 Question Id : 953357189048 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TEATF T THFTLF 7162 7ol 2l
(i) #EX
(i) =a
(iii) Fegaw
(iv) WEATF
Options :
1.1
2.2

3.3
4.4

Question Number : 92 Question Id : 953357189049 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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(ii) ST
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(iv) e

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 953357189050 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2

3.3
4.4

Question Number : 94 Question Id : 953357189051 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1.1

2.2

3.3
4.4

Question Number : 95 Question Id : 953357189052 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 953357189053 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 953357189054 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 953357189055 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T G 3 ATATET TR T T T FAfRa
(1) TS
S =y
(ii) =TT
(ii1) TTE e
(iv) e
Options :
1.1
2.2

3.3
4.4

Question Number : 99 Question Id : 953357189056 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Id : 953357189047 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (91 to 99)
Question Label : Comprehension
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THF STATET HEIRS, I feST % STV SHER-US, S SAT@T 5 ool ST T wh
fate st mafetemt s 3@ w9 o7 39 0 sHer e vt #d @ o I o
BT TR AT T i T T #a 9| A Few, W ST, S
ferfesT TR u= it TureTT i TR S W TS w5 e o e W
fertiferat o @mer +ft T Gea T ® @ 300 2 At fawa e g e e i
wTreft <ft 3t AT 37 T T A A AAwaT AR e S % i - F e n
FHTER T3 361 ST A S T3 e FT= wa o sfter ot st w9 | TSt H
T ATSAT &7 T |

TSt 3 UT AT W UE AU farEmefl oTarw § 7EeE | T % AT e
o iRt o off| TEEf TS 39 T ST A| ST U 9T SR U6 9| T A AEHEeE
o T T FTY-ETer # I i off| 39 U H A O T WS A WS F
FAT BT 2| WIEcd o RN 3 ©TY 7RI s Gael T2 Tl AT 9 241 3 a1 36t
FHA T, T3 TS % Weed i SeAe1-Tere 1 o foar o) femmmer #=-
SET A T T R T W fam s AT sfiden e, wna s i i
AT ATATE I8 T il I91 WITaTeae Tttt i o 2

Sub questions

Question Number : 91 Question Id : 953357189048 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



‘TEATF T FHETIF 768 TET 2

(i) ¥ER
(1) ST
(iii) g
(iv) WEF

Options :

1.1

2.2

3.3

4.4

Question Number : 92 Question Id : 953357189049 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ST 3168 T =T 2

() Fo
(ii) TR
(iii) ==THTEE
(iv) 3'?{7-&

Options :

1.1

2.2

3.3

4.4

Question Number : 93 Question Id : 953357189050 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ST e 7 SemEm 2-
(i) e
(i) =@
(iii) TLIRR
(iv) WESHF FTaTF
Options :
1.1
2.2

3.3
4.4

Question Number : 94 Question Id : 953357189051 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T TR T T 4 R
(i) = wE
(i)  TmEAT
(i) TTH=THEI O
(iv) TTHATHT Oer 2T e

Options :

1.1
2.2



3.3
4.4

Question Number : 95 Question Id : 953357189052 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

STTAA-FT T I AT ST ST TR 31 T
AR e =t E-
(i) FEHOTH
(i) TEUH
(iii) =|fT=R g
(iv) =mErH
Options :
1.1
2.2

3.3
4.4

Question Number : 96 Question Id : 953357189053 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T ger 3 STETE TR A e sifee w
7,

(i) =

(i) g™

(11) T

(iv) F

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 953357189054 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TR de 3 ST F o e
(i)  omieR e 2|
(ii) T AT FT WrEAF AIATE 2|
(iii) FEaT A= R
(iv) =7t ge=T et o 21
Options :
1.1
2.2

3.3
4.4

Question Number : 98 Question Id : 953357189055 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



T G 3 ST o T T T @dfeha Fard
-

(i) e

(i)  =FafE

(1i1) TTET AT

(iv) e

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 953357189056 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
47 3 T T ST TR FET ST TS AT 22
. * r-u .
(i) SASAM-EY §9E #I ST

(i) =T
(111) T!qlgaf
(iv) TEATET
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 95335711343
Question Shuffling Allowed : Yes

Question Id : 953357189057 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (100 to 105)

Question Label : Comprehension



Fefeias Taie i Uga 00 0 4T & S8 S0 ST aTe (e i 1T

1 Tt g F ST
o o W e L

it ST ferreor & ar wereeEE

Feft 7T o B

T T A T

ST 3 ST 1 A TEH

fore oAt =TTTey, o WE AT

AR e * D

T T AT | A= & g
HEoh! T L

& F TS S |

T3 1 1o % a4 T U AT F H
7S T T T IA! IS U TE 6
AT AT 31 70 T T H

AT i 3 T o o § I

T FETeTT for & wheft % T
Frgfrers 78

7 1 % T S I Sle (edT ure s 5
T

FEGH

e Ti=-UT Ufadi % SEeE | Sl S TR, ...

Sub questions

Question Number : 100 Question Id : 953357189058 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Frgm mem -
(i) g
(11) =
(i) Z==
(iv) foeesr

Options :

1.1

2.2

3.3
4.4

Question Number : 101 Question Id : 953357189059 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ST ITeT T ERL A= =T R

(i) Fom=TE
(i) Ero=E

(iil) FOT+T=E
(iv) ZIUT+ A=
Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 953357189060 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TET U= § AT AT 27
(i) O gt & aer
(i)  OT=Te 297 S THFART
(iil) TT=ITeT S o =
(iv) Of=r s

Options :

1.1

2.2

3.3
4.4

Question Number : 103 Question Id : 953357189061 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

.1

(i) Fw=
(i) o=
(i) STEeYTET
(iv) <Eg=

Options :



1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 953357189062 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T T AT W FIF 04 5AT?
(i) wETUES
(i) Eg=
(iii) Fod
(iv) e i S
Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 953357189063 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Wﬁs@aﬁﬁ%wﬁﬁﬁwmm%
(i) o=
(i) T=

3
(iii) drET
(iv) TR
Options :
1.1
2.2
3.3
4.4

Question Id : 953357189057 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (100 to 105)
Question Label : Comprehension



Fefeias Taie i Uga 00 0 4T & S8 S0 ST aTe (e i 1T

1 Tt g F ST
o o W e L

it ST ferreor & ar wereeEE

Feft 7T o B

T T A T

ST 3 ST 1 A TEH

fore oAt =TTTey, o WE AT

AR e * D

T T AT | A= & g
HEoh! T L

& F TS S |

T3 1 1o % a4 T U AT F H
7S T T T IA! IS U TE 6
AT AT 31 70 T T H

AT i 3 T o o § I

T FETeTT for & wheft % T
Frgfrers 78

7 1 % T S I Sle (edT ure s 5
T

FEGH

e Ti=-UT Ufadi % SEeE | Sl S TR, ...

Sub questions

Question Number : 100 Question Id : 953357189058 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Frgm mem -
(i) g
(11) =
(i) Z==
(iv) foeesr

Options :

1.1

2.2

3.3
4.4

Question Number : 101 Question Id : 953357189059 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ST ITeT T ERL A= =T R

(i) Fom=TE
(i) Ero=E

(iil) FOT+T=E
(iv) ZIUT+ A=
Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 953357189060 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TET U= § AT AT 27
(i) O gt & aer
(i)  OT=Te 297 S THFART
(iil) TT=ITeT S o =
(iv) Of=r s

Options :

1.1

2.2

3.3
4.4

Question Number : 103 Question Id : 953357189061 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

.1

(i) Fw=
(i) o=
(i) STEeYTET
(iv) <Eg=

Options :



1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 953357189062 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T T AT W FIF 04 5AT?
(i) wETUES
(i) Eg=
(iii) Fod
(iv) e i S
Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 953357189063 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Wﬁmﬁﬁ%wﬁﬁm‘wmm%
(i) o=
(i) F=

3

(i) urea

(iv) R
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 3
Sub-Section Id : 95335711344
Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 953357189064 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Tt = o7 TTaTaET IR SR B -
(i) T FremT 39 3T 58 S 2
(i) o=t ar=aT == gy =E S R
(iii) == % feAm, a7t 2Tt 2
(iv) i ToaTaeRT 3 foTm <7efqut et 2

Options :

1.1

2.2

3.3
4.4

Question Number : 106 Question Id : 953357189064 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Tt T I AT FRT A B -
(i) TSehr FrsT 59F 310 &7 ST 2
(i) TorTeht =T St ETT S S 2
(iii) ST &= 3 TeAw 7t et 2
(iv) i oTeaTaERT % foTm STefqut &1t 2

Options :

1.1

2.2

3.3
4.4

Question Number : 107 Question Id : 953357189065 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T T O TR Tifearrer a1 foret @ o o, e fea s =i
(i) === ST =% Sl HIST I7 TG HIST
(i) BT T a7 ST
(iii) foEmHram o TsT S g
(iv) ToTeTer 31 T9T A7 SATETH F AT H

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 953357189065 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T T T TR et a1 ot @ 3 o sre fea s =
(i) ===t 3T =% T THT A7 HG W
(i)  FATT oTeT I TS A
(iii) FEmH oI TS S I T
(iv) Toreqer <t woram 343&31-4 FATeET T

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 953357189066 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Traferfas w3 wad § BIA-91 faeeg T8 T8 20
TRfara, T ve O F 7 & e =
(i) ITe2 UE T W= @A B
(ii) ST T ST T B
(iii) Terorag % ATee o ST Ha
(iv) 168 HUST T B
Options :
1.1
2.2

3.3
4.4

Question Number : 108 Question Id : 953357189066 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Frferftas w9 ¥ 99 O F149-91 (9507 921 781 27
i, TaTd 7 3 7 & ome =
(i) ¥Te2 US 9199 SEAT1 A B
(i) ST T ST TE T B
(iii)  Torerarere =5 wTeam & =aTeRT S F
(iv) 3768 HUaT TGTd 2
Options :
1.1
2.2

3.3
4.4

Question Number : 109 Question Id : 953357189067 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TSTerF ST T TR AT B/ AT -
(i) & 3T F F 170 T35 T F 1 ST T HPAT STFT 0 B
(i) o2 UaT o9 & forn 5 o=t = e & ) T S T R
(iii) F==I 1 3 W % ATTH 3 0 FE=aT TE A 2 TS a9 F o)
(iv) === I 3% TedT! & ToAT L o o0

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 953357189067 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



ToTarer w=1 =1 ST FAT B/ AT -
(i) =% T & % form, o8 amear o =1 9T 267 2199 SUg1T A 2
(ii) == AT =T & for o6 w=at =1 e & et w1 o T B
(iil) === = 373 AT o AT % [0 TeEar oe %T\-rjq\mm T 3 form)
(iv) === %I 3% TeaT! ¥ ToAT L o o0

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 953357189068 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TETt === T &1 WY ST T = TR @ ST S S T UE WIS 3 ST T WA e 5, HEAT 2
(i) Hehd- FEem
(i)  woha- Tafsa w
(iii) TR
(iv) ZaT =R

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 953357189068 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TEa Tt === T &1 WY ST T = TR § ST S S T Ue WTNT 3 ST T TR A 5, HEeAT 2
(i) Eehd- wEem
(i) Toha- Tofem T
(i) ST
(iv) Zeqar =%

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 953357189069 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

= T fore 1 SetTet am 1T fovet e s e £, 3 fore e £
(i) Ty
(i) e e feptemm
(iii) TomgT
(iv) =g Fraaa
Options :
1.1



2.2
3.3
4.4

Question Number : 111 Question Id : 953357189069 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T U forige S ST AT SATE-Fervst T s e 7, 7 e e £
(i) T
(i) Fra T fereem
(iii) T
(iv) =9 FrFa
Options :
1.1
2.2

3.3
4.4

Question Number : 112 Question Id : 953357189070 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Frfeafas O & F19-97 UF T =1 1 399 557 o1@T (99T 50 T FETFaT FOT-
(i) TR H ST B HAMT
(i) FoTEH A
(iii) et ST
(iv) e 99k T
Options :
1.1
2.2

3.3
4.4

Question Number : 112 Question Id : 953357189070 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FaTafas © & I9-97 U5 19T =21 Tl 70T 250 @ (S 0d e § TeradT F:0-
(i) TR H ST 3 HAFT
(i) FToTTH A
(iii) fifer=at 33T
(iv) TR 5 59 foae
Options :
1.1
2.2

3.3
4.4

Question Number : 113 Question Id : 953357189071 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Treferfiae & & Fi-a1 T o e F o o o F e qeeaye 27
(i) = srufefe v 3 fof T wepe 9ot et o TN R wHe § 0EE 5 B
(i)  Tors Tavemeff gV 70 7T 9TR T S, WA AN qEHH R, F e | e i o
(iii) === ST G WA Tamnea i 7
(iv) 1= o= are a9 foreqes 1 et v Siegary sh SR S 7
Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 953357189071 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Feferiad 5 & -8 9191 i Teep o =751 3 aX J 96 qeeaqy 7
(i) Tt eTufifera va 972 for <1 e 9T WEwl & W97 1 999 H 988 3 2
(i) o Taveeff gV o70= STT-9TR T S, WA AW AEHH A, F e H wa e o
(iii) &= 2T T9F WA faeRe e 2
(iv) T s e qu forerss it et v wiedEre it TrEA w7
Options :
1.1
2.2

3.3
4.4

Question Number : 114 Question Id : 953357189072 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

(i) Weea A FTEAT
(i)  TST % =97 &
(iil) Sia o
(iv) TIeaTedeR STt
Options :
1.1
2.2

3.3
4.4

Question Number : 114 Question Id : 953357189072 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

(i)  wTrees = FErEaT e
(i)  TST % =91 1
(i) ST Free

(iv) TTeaTeHe e

Options :
1.1



2.2
3.3
4.4

Question Number : 115 Question Id : 953357189073 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T F AT S T F SUMRIA ST & 7YT 9% ST =41 5 3% 361 97 | [SFed 2l & 9 5 o S
FH| TT FIT e FE
(i) o vE femw
(i) T =re=ht
(iii) =T FraTeehT
(iv) F @
Options :
1.1
2.2

3.3
4.4

Question Number : 115 Question Id : 953357189073 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

st 3 T S & SR S T T v e e e @ R e 3 o o
T I FUT e FE
(i) v fFw
(i) 9 =ree=ht
(iil) =T T
(1v) EiER=IE]
Options :
1.1
2.2

3.3
4.4

Question Number : 116 Question Id : 953357189074 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

THTE T T ST IR F AN SRR § o FH-87 UF ge A5 20
(i) AT T F T F T
(i) =T 3 ST ST F THOTF a7 T
(iil) ST Sa= o FEINT 3 FHE S A F AT &
(iv) T=HT 1 Teaht 9T STV ek ST HiET|

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 953357189074 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



THTE BT § ST UE 3 g1 § HEenEd § § F 961 U 96 T8 27
(i) ST FEEOT % Y F T FA
(i) = % ST TR F THOTF = T
(i) ST Sa= o O 3 I S A F HTE 2|
(iv) T 1 Teahe 9T ST Tk TR S|

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 953357189075 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TtefEa 5 ¥ o W WAt @15 F H e g Ay
(1) At faem et SEehar e JarEa
(il) 399 VeaTaelt U TiaHE v
(iil)  3TTO T U 7T Ff FH
(iv) T va =t fae et e

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 953357189075 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TATerEs 5 § o O WEaT S5 F H FRer g Ay
(i) At faem set Sesar e TarEar
(i) T3 STeaTT= U iaHe e
(i) TGO AT TS 79T T T
(iv) ¥ va et o St

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 953357189076 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Trer = wraT SAferT S wlERa 5 weET &1 F U A (e ST A e B
(i) <A
(ii)
(iii) T et
(iv) Ewor Sty
Options :
1.1



2.2
3.3
4.4

Question Number : 118 Question Id : 953357189076 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TITSAT H WTST SATENTH ST TTSHAT T SIETET & h o7U qehe ol (STEITThT) ST ST & ... TECTTAT B
(i) =
(i) SATESET
(iii) F=TeRE ST
(iv) Hosor SrEmfehT
Options :
1.1
2.2

3.3
4.4

Question Number : 119 Question Id : 953357189077 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Trmtelart & 1T % STeTT % foT0 Su=T S ST ST SR AR SR B R
(i) e
(i) SEEE
(iii) TR a7 fowege =T
(iv) =FF Termor gro
Options :
1.1
2.2

3.3
4.4

Question Number : 119 Question Id : 953357189077 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Toranfeiart 2 TRy % STTeReTT % ToT0 SU=T A ST STt SR AT TR A R B
(i) ===
(i) SEEE
(iii) TR 37 forege w=T
(iv) 3Fe Terior grot
Options :
1.1
2.2

3.3
4.4

Question Number : 120 Question Id : 953357189078 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



TR TS farfer s e S 2
(i) IEAW
(i) TEEW
(i) SUFhaT 9T
(iv) TSRO

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 953357189078 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

STR-STETE farfer S e S &
(i) TEAW
(i) TEEW
(i) SUTFHAT T
(iv) T=EROIT

Options :
1.1
2.2
3.3
4.4

Language 11
Section Id : 9533576507
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 95335711345
Question Shuffling Allowed : Yes

Question Id : 953357189079 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (121 to 128)
Question Label : Comprehension



%GIF\‘:](LTE:LHM':\l’J%: EUEGH ‘E-’&V—I HJ-I'.EHHHEJ?'—'F?] ‘J'!'i'fallvi- "ijl{o‘;d ! _Ul'-'l:bd’i': Hd QI{I':L
Tl S | a7 S wied ot | T e et e e = v |
Tomer: T o7F ST FHIE | AE: TS R O 36 | ST S O, S A | T
T T T STEE S W S | S S S O St ° Fe A
Tt B | G e e | o g e | Ferh e g e ST Tee -
vy T @ 31 | 951 O g IAE -« wwaE: 25 At 3 |

T ST TEA - <RI T I WA DRI STt =T e 5t | ot
A TEI T - 38 TRy 3 5 | o6 A 7 T T I - < 991 39 - e
TR, T9T: I | A Teba Sia S W | 37d: 37 SthaT — 378 Teafauiaayia
e 3 | O, e S, 5 et S = |

Sub questions

Question Number : 121 Question Id : 953357189080 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TER: T BT SR R A s, 7 T e

1. Toed=Tale
2. T
3. =AM
4, UsSEET
Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 953357189081 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T T T F, Ra: A 5 T T, S 2

1. TEA={EHAR

3. TEEAEEE

4. TEEETH=ATEAT
Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 953357189082 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

HeagE: O o1 gﬁ&dldﬁfi’?ﬁ&_’l:l'ﬁoirlf-_hddl—l«?

C o

1. S
2. TTEREETET
4. TEWREE

Options :

1.1

2.2

3.3

4.4

Question Number : 124 Question Id : 953357189083 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



TE: T A G 7

1. 50-60
2. 60-70
3. T0-80
4. 40-30

Options :

1.1

2.2

3.3

4.4

Question Number : 125 Question Id : 953357189084 Question Type
Correct Marks : 1 Wrong Marks : 0

A G5 00 G| T e T T, e 5 7

1.
2. T
3, T
Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 953357189085 Question Type
Correct Marks : 1 Wrong Marks : 0

[ [ i~ r
T =Rt ea T ST FEH ST ST 1Y -

1. T T A O |
2. OO g1 S |
3. Fwishrat fghy |
4, CORETSS: SO S |
Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 953357189086 Question Type
Correct Marks : 1 Wrong Marks : 0

|. ISy ST
3. sETTE
4, T

Options :

1.1

2.2

3.3

4.4

Question Number : 128 Question Id : 953357189087 Question Type
Correct Marks : 1 Wrong Marks : 0

: MCQ Option Shuffling : No Is Question Mandatory : No

: MCQ Option Shuffling : No Is Question Mandatory : No

: MCQ Option Shuffling : No Is Question Mandatory : No

: MCQ Option Shuffling : No Is Question Mandatory : No



1. SEE g A I A |
2. FRUICT: HgUT: AT I |
3. o e e |

4. FEmi e |

Options :
1.1
2.2
3.3
4.4

Question Id : 953357189079 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No
Question Numbers : (121 to 128)
Question Label : Comprehension
AT, FE A S G G 3T S - TR | T e ae g
I SR | 3T ST S e | T A eeaea e e e = ey | S
Toey: T a7 SRl SN | 6 ST SER U 3 | S 95 e gt | @
TR TR T WTSg S W ST, | S ST, SUrE W et F Fe
T O | U U AT T | T T T | ST S S § T 37T T -
sy T aa 37 | 7o g 7 e - o w25 it Ef |
T ST TEA - GG TA I WA TRqa T STefifaadia: =T e 3t | o
T, FGT T - 378 Tea e 3 | 6, 7 T 9 I - a7 3, - T
FREOIEE: T 0= | T THa e S S | 37 37 3 - 37 T e aa g
3 37 | wEE, g S, 3 e g = |

Sub questions

Question Number : 121 Question Id : 953357189080 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ELUEGH ﬁwmmmuw HEA AR ST r&q—.&g @.J__ruis;ﬁﬁieq—gcmu q 7

1. Te=d==TT
2. DM
3, TR
4, TeAEE;
Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 953357189081 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T FEEEE: S H RaT: A 5 O e ?

o

[FER SR
§
e
;

4. FEFTH=TEAR
Options :
1.1
2.2
3.3
4.4



Question Number : 123 Question Id : 953357189082 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T H: 7 TEaT, F Gl WA 7

[

1. Fe=gerEs
2. TEEEmEET,
Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 953357189083 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TG T I T 5 7

1. 350-60
2. 60-70
3. T0-80
4. 40-30

Options :

1.1

2.2

3.3

4.4

Question Number : 125 Question Id : 953357189084 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T 5 F T TR A 3 W e T 7

L ga
2.
3, T
Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 953357189085 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. THE T S T |
2. EEI " e |
3. Fwrstrat et
4, COTETS: SO I |
Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 953357189086 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



|. ITEETRYE SHTEE =
2. FEE EORET
3. FErgET
4, e
Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 953357189087 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A T H&T{W: =: |

FEIEE: TEO: ] ST |

e ff e |

4. Tamomar |

b B

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 95335711346
Question Shuffling Allowed : Yes

Question Id : 953357189088 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No
Question Numbers : (129 to 135)
Question Label : Comprehension
TR T ST | T HE A G et = ST | UaT 7T G T
ST 34@:1:{!—1‘%1"!3: = T SR GA | T 9T A EE S, T T |
ST T ST e — e 5 TT-3TTE- e e T=a aa: T 79 7 - 39,
AiamE AR |
FFRIE: T SV T, T 0 S g 7 SR, A9 ST U-E-ae Y W 7 d
Tt e, Tl TR U SRR STTE: | TaT G aE S e JHTH: FaT T
T, STEAa, TET, = — <1 Tegen: | 7eta: T 6 s 7
T HH gaa: | Tiea: 9TEee Fuleay 379 - 33 ST 6E: 56 FY O | O T 5
iy zﬁﬂ]zhd-d: | T SIS T A | I S IS O gEa | A
7€ F o T o i srsfiwaregf b= I
T - 37 ST FAIT: I el FAIGY STl Sar Sid it J2aT | aie i
TS, T ST YR UA S A | ]
L{riz-:,éyrql =T oulhml ;Inl-;anUH: | {-d%l:&_ e cfilal:}H TFT WWD’HHF_[I

Sub questions

Question Number : 129 Question Id : 953357189089 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



1. =
2. mET
3 ETQ%’FT
4. =

Options :

1.1

2.2

3.3

4.4

Question Number : 130 Question Id : 953357189090 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

El-:grq:mnﬂﬁ =R ﬂ'.'ﬂm'.’

1 =R A
2. T
4. AT

Options :

1.1

2.2

3.3

4.4

Question Number : 131 Question Id : 953357189091 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
m 3‘&[ "-IZ'.!—'—!I’STS&: -
1. =
Z &
3. ®&
4, R
Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 953357189092 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

o

1. dTATHT
Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 953357189093 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



1. R
2. T
3. T
4. TSI

Options :

1.1

2.2

3.3

4.4

Question Number : 134 Question Id : 953357189094 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

=g 3 ofue f=we, 7y = ?

I ed e
2. T
3. g
4. TEEE

Options :

1.1

2.2

3.3

4.4

Question Number : 135 Question Id : 953357189095 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

¢ ~ -
e RG] ﬂjw o TEIH SHEEH S g

1. o
4, i
Options :
1.1
2.2
3.3
4.4

Question Id : 953357189088 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (129 to 135)
Question Label : Comprehension



arsiferttas meris afaen EaTETSET AT 2 g fe e |

FONC: T4 S| T2 = AT ﬁhg(‘;;..tyﬂ;{._,ﬁﬁi';:a&ml i mw
e, 34|_\_5-.4!—|h%mr: = T SR GA | T 9T o T S, T |
ST T AT FAE — U SF ST S e WA aa: T 59 T T,
SR i |

mﬁammqmﬁ%qﬁﬁujwm aﬁqﬁmﬂﬁ-ﬂhwsﬁq“ﬁ
FrreT THE:, d*-df* BRI @Eﬂﬁﬁl HMTE-: | TaT :’f:cugﬂmﬂ{_q e e
WWW_?—"#T: TEgE: 'Wﬁ?%%ﬁaﬁf 9

T A g | e ATt e - R ST e, o e T | e T
e _\ﬁﬁ-lzhd—d: | T SIS Fod A | I S IS O gEaT | - E
7€ q o T o waifon srsfioaegf b= I
AT W=, ST0=0 - “HAT AT e 7 HaT | G TR g S
GEA, T W u'rthxqaqwg!ﬁ e | -
TergesTT TS TETS AR | AT = T - FIE G 9T B ST |

Sub questions

Question Number : 129 Question Id : 953357189089 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FCEE: F: ST ?

1. T=m
2. wAT
3 Efr%ﬁ
4, T=T

Options :

1.1

2.2

3.3

4.4

Question Number : 130 Question Id : 953357189090 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. TR
2. T
4. AT

Options :

1.1

2.2

3.3

4.4

Question Number : 131 Question Id : 953357189091 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. &=
x =
3. ®

4, R
Options :
1.1
2.2
3.3
4.4



Question Number : 132 Question Id : 953357189092 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

-

1. T
Options :
1. 1
2.2
3.3
4.4

Question Number : 133 Question Id : 953357189093 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TI’:IT'ET%’:FFFH:'_TCFET}T:T a7
1
2. T
3

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 953357189094 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

“UF=gET 3 e e e T

3. g
Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 953357189095 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

SR UH 5 S S ST 7

1. T
4, TR
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 3

Sub-Section Id : 95335711347



Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 953357189096 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T STAT : AT T ere! eAT: T~ FaT s o: T8 TR sIaen:
1. TSI ST TR o e gere: e |
3. T AT i SR |
4. STITTE FISTEHT ST eI st Teee: Wty |

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 953357189096 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T BT : FHIS e T T 77 e &, T8 T A
1. TSI ST T = e gee = |
3. ST ST e T |
4. T T SAISTER AT TR ST TEre: it |
Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 953357189097 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
AT &aﬁ‘?ﬁﬁlﬁ'l
FH 9T F SR |
4. R ST s |
Options :
1.1
2.2
3.3
4.4

bt Ddicubd

Question Number : 137 Question Id : 953357189097 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
ATAT: Yeiohed A=reafer |
AT ST et |
AN 4 T SR |
4, TCE S i |
Options :
1.1
2.2
3.3
4.4

b Dk



Question Number : 138 Question Id : 953357189098 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. & SEEn JEE |
2. T ST O O TERT: S |
3. T |
4, T AT |
Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 953357189098 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. T |rEEn SJEE |
2. T ST 0R: T TR S |
4. SR ST |

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 953357189099 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. e wesE 3 {I-:iH'.;ld;_. T _';I“-_!F;i & TREAT g = I |
2. o e wt i o At |
4. TEEEE STEE |

Options :

1.1

2.2

3.3

4.4

Question Number : 139 Question Id : 953357189099 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT AT TE-a T U e SO S, I FT AT T A -

1. STeqfor wreaT = T, a1 W o RE, gL A |
2. e fame: T o and A |

3. a4 oEs %q**lljllaﬂ'lq.lat{dﬂiﬁlﬁi 4|'4|3:1-§1;5_1|

4. T A |

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 953357189100 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
AT 1 3 T ?

e e = 29 T |

4. %@H&‘Fiﬂ I91E; (product)

S T N B ]

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 953357189100 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
FATAREA 1 3w T ?

1. wE eeeEd = I TEE |

3. TG A A S T

4. %@ﬂﬁaﬁﬂ I91E; (product)

Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 953357189101 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

EEIT T TR e il -

. SR
2. TEEUEIERETEE
Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 953357189101 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. HEEITEE
2, TR
Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 953357189102 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



T wTeRTE T ST ST T T -

U‘d"_‘ﬂ Bl T STEETATEA T T TEsThTE ﬂl_%ﬁ-f\l

1
2. ToaEmAd T ST 99T HE: e |
3

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 953357189102 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
fererer ST Tt TaeTeaT STeatia: #: I -

2 f&ﬂ:-ﬂ-.iiumulq;:&FﬁJl&:HmHawtiyi:?T%|
3. e Tt g a=9 ey |
Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 953357189103 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

[ o N - -,
TR = S TedH 1 TE = J99T: -

1. Toremmoms 3uft o St |

2. T S T = e = |
3. I SRt Tt |

4, W\Idﬂlq«-ﬂﬂ%ﬁxd&lwt—i TrEATEA |

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 953357189103 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

RIS e aae ST T TIraT: STEMT: -
1. Tovermoms 3uft wi T |
2. TET T FteE T T = e e |
3. A SR T A |

Options :

1.1

2.2

3.3

4.4

Question Number : 144 Question Id : 953357189104 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



TR (Summative) STFa T9 3594 e aife 2
1. FUAtew=sH (Improving achievement)
2. wEAEEE (Unit of study) TR ST STE@FET-S7 <A AT |

4. T TS HTTH TGS ST 99T = IR |
Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 953357189104 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
AT (Summative) SToe+a T 3 for 3l 2
1. IuATeg=E=H (Improving achisvement)
2 U@ﬁm (Unit of srud}-']}]'l'{l:‘;i BT éluemﬁumql—!mﬁ&u 0 |
3. I @I}I'-‘leﬂ&lDﬂlﬁ‘JIM T dt:l-lilsi_:_ FTETT ST ST R‘WﬂTaﬂﬂT'{l
4. TR I9E: HI9H F9=T 'z.n;.;&—.ewi LT = TR |

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 953357189105 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TR |o|f—:1=:44,~4§tz_rw——.r T et ST SaE Ef._l:i'ﬂ'\a-llﬂwdﬂtdl T -
. SHEIHE S |
2. CHTRLONT AT GRRTEaTT AT T |

T Ui e |

I
4. OEEOE ETEIEE TS ST |

b

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 953357189105 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Tt ﬁﬁ‘l"@'d?:tgw_:r TR e ST F9E ‘F—h’\mmﬁ' -

CATFLIRTA T eTeaTT A= T |

TR Wie SO T |

Options :

1.1

2.2

3.3

4.4

i

Question Number : 146 Question Id : 953357189106 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



TR TS S ARady 15 7 3had 7
T -ﬁwsmmu—.al T FEET T afa ?v-lﬂ'[:ia‘i:—rfl
2. R SR ST WIET: ri'i{ﬂﬂh\ikllr;llillrd TTEqeF: = SOHLiear ITaa1d |

3. ﬁlﬂﬂh'ﬂﬂm (Pairing) #ETZ (Sharing) = ?ﬁ@ﬁmﬂﬁﬁﬁﬁaﬁa HIT: T |
4. forer: T wumn St ot

Options

1.1

2.2

3.3

4.4

Question Number : 146 Question Id : 953357189106 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

o B A [l I~
HTHET: T ST eTRady ok = 3iedH 7

. TIATECEIEET A HEE ST ST o T |
2. Trafa AT T ST -it{qﬂhsqra\l!ill—d THTETF: =T SoHA oA ITaET |
3 %ﬂqﬁm (Pairing) STT=vZ (Sharing) = St THATH THIEET M= .Elcflrisi;mn‘rr: o
4, Torge: o wOwE SEEtETE P |
Options
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 953357189107 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

4. TR W |
Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 953357189107 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

(=3 [+ ) T =

1. TSR 9= |
2. SEAEe =g
4. DRSS WE: |

Options :

1.1

2.2

3.3

4.4

Question Number : 148 Question Id : 953357189108 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



S R SE T (e 99y 7
1. e fmey: 57 o e a s, et 5 i |
3 ‘J [ ~ . X i~ = [ [ - L
2. ?@TWT&T{H el SATaT: Tieal SeATS o T S=aT: T r=TeaT Srama: s Tl |

3. T ST F A S g, it |

4. T RS (Positive reinforcement) SeIEET FTET; HTIRET: ST T |
Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 953357189108 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ST AR aTETArEa e 3T

1. 7 FTe]: = T AT O ST W O T ah |

) T@Taﬁfﬁﬁ‘qﬁ FET: T SeOTIHT & (= e r=rreay s, simes @Jl—d I
3. HIEE: S-II"H#‘Uia':__Q_THHﬂH,-:E Sgfite u‘rﬂ'&r‘z{_e:ﬁ:ﬂ

4. TFWE?W (Positive reinforcement) FEATCE LT ST HTIET: &W@iﬁl
Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 953357189109 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
e g Wi e |

1.
2. = T e vt
3.

4, w@ﬁﬂﬂﬁl
Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 953357189109 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
2. e wg = sl m=sta)
3. witfeE e vf =iy |
4. T 7 uiE TS |
Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 953357189110 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



T} ST HeaTe |

4,  TE Tt z.-.sl-ndua_-m_‘l

L

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 953357189110 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT ;i":l.,-_.ltlr_\'-lidldlcﬂ‘-'li-%! ;wwy

T T el E At |

4. DT TR AT |

el o

Options :
1.1
2.2
3.3
4.4



